Pnomatik Silindirler / Pneumatic Cylinders

TN - ikiz Silindirler / TN - Twin Cylinders | siparis Kodu / Ordering Code [Sembol / Symbol |
[ | TN 000 X 000 Tkiz Mili
Twin Rod
Strok-mm / Stroke-mm
Nominal Cap-mm / Piston Dia-mm
Seri | Serie

(SensbrlerlSensors KT-11 (Sy/Pg:S-os))
[ Strok Listesi / Stroke List )
rPisetjon Standart Strok / Standart Stroke Max. ‘j{:gﬁ';’gg‘gﬁgk‘;k\
10 10 |20 |30 |40 |50 |80 |70 | - - - - - 70 100
16 10 |20 |30 |40 | 50 |60 | 70 | 8D | 90 |100|125|150| 150 200
20 10 |20 |30 |40 |50 |60 | 70 | 8D | 90 |100|125|150| 150 200
25 10 |20 |30 |40 |50 |60 | 70 | 8D | 90 |100|125|150| 150 200
¥ JL 32 |10|20 |30 |40 |50 |60 |70 |80 |90 |100[125/150| 150 200
[ Ozellikler | Specification )
/ Piston @ 10 16 20 25 32 B
Calisma Tipi / Action Cift Etkili / Double Acting
Akigkan / Fluid 40y Filtrelenmis Hava / Air to be filtered by 40p
Basing Aralhigi / Pressure range 1.0 ~ 9.0bar/ 0.1 ~ 0.8MPa/ 14 ~ 128Psi
Test Basinci / Proof range 15.0bar / 1.5MPa | 213Psi
Sicaklik Araligi / Temperature range (C°) -5~70
Hiz Araligi / Speed range  (mm/s) 100 ~ 500
Ayarlanabilir Strok / Adjustable Strok (mm) -10~0
Yastiklama / Cushioning Tampon / Bumper
Dénmezlik Toleransi / Non-Rotate tolerance £0.4° +0.3°
\ Baglati lgiisii / Port size M5 x 0.8 1/8”

@\

Cig Yapi / Inner Structure
-

5 6 7 8 9 1011 12 13 14 151617 18 (Mo Parga  Item Ne Parga / ltem
\gi /7 ‘\ /7 /7 / 1 |[Civata/ Screw 2 | Tampon / Bumper
[ / re) \ 3 | Ayarlama Civatasi / Adjustable screw 4 | Mil/Rod
4 [ ] = = j 5 | Sabitleme Plakasi / Fixing plate 6 |Civata/ Screw
3 N N\ SN 7 | On Kapak Rondelasi / Front cover washer | 8 |Segman/C clip
2 19 9 |On Kapak Contasi / Front cover gasket 10 | On Kapak / Front Cover
\7\ 777777777777 ol FORR I N 11 |On Kapak Oringi / Front cover O-ring 12 | Govde / Body
1 - ; N20 13 | Tampon / Bumper 14 | Manyetik Tutucu / Magnat holder
15 | Piston QOringi / Piston O-ring 18 | Asinma Plakasi / Wearing ring
\7l37 - LA 17 | Arka Kapak Oringi / Back Cover O-ting 18 | Segman/C clip
J 19 | Arka Kapak / Back Cover 20 | Piston / Piston
L L i i | 21 [Manyetik Halka / Magnet )
\ J
((")nemli Parcalarin Malzemeleri / Material of Major Parts )
(Piston @ 10 16 20 25 32 N
Piston / Piston Aliiminyum Alagim / Aluminum alloy
Govde / Body Aliiminyum Alagim / Aluminum alloy
Mil / Rod 20p Sert Krom Kaph Karbon Celigi / Carbon steel with 20y hard chrome plated
Arka Kapak Contasi / Front cover gasket NBR
Piston Oringi / Piston O-ring NBR
Arka ve ©n Kapak Oringi / Front and back cover O-ring NBR
Tampon / Bumper PU
On kapak Rondelasi / Front cover washer Bakir / Copper
Sabitleme Plakasi / Fixing plate Celik / Steel
Yastik ignesi / Cushion needle Bakir / Copper
Segman / C clip Yay Geligi / Spring Steel
On Kapak / Front Cover Aliiminyum Alagim / Aluminum alloy
Arka Kapak / Back Cover Aliiminyum Alagim / Aluminum alloy
wanyetik Halka / Magnet Plastik / Plastic J

G 2 - 18 _ .«



Pnomatik Silindirler / Pneumatic Cylinders

-
(TN - ikiz Silindirler / TN - Twin Cylinders )

(Teorik Kuvvet / Theoretical Force (kg) )
{ Piston & 10 16 20 25 32 R
@ Mil / Rod Size (mm) 6 8 10 12 16
Galigma Tipi / Acting Type Cift Etkili / Double Acting Cift Atkili / Double Acting Cift Etkili / Double Acting Cift Etkili / Double Acting | Cift Etkili / Double Acting
Itme kuvveti | Gekme kuvveti | Itme kuvveti | Cekme kuvveti | Itme kuvveti | Gekmekuvveti | Itme kuvveti | Gekme kuvveti | ltme kuvveti | Gekme kuvveti
Push side (kg) Pull side (kg) Push side (kg) Pull side (kg) Push side (kg) Pull side (kg) Push side (kg) Pull side (kg) Push side (kg) Pull side (kg)
Etkin Alan / Pressure Area(cm?) 1.57 1.00 4.02 3.01 5.28 4.71 9.81 7.55 16.07 12.05
1 - - 4.1 3.07 6.40 4.80 10.0 7.70 16.39 12.29
2 3.20 2.04 8.20 8.14 12.81 9.60 20.01 15.40 32.78 24.58
3 4.79 3.06 12.30 9.21 19.21 14.41 30.01 23.10 49.17 36.87
Galisma Basinci 4 6.40 4.08 16.40 12.28 25.62 19.21 40.02 30.80 65.56 49.16
Operating Pressure (Bar)
5 7.99 5.1 20.50 15.35 32.02 24.02 50.03 38.50 81.95 61.45
6 9.60 8.12 24.60 18.42 38.43 28.82 60.03 46.20 98.34 73.74
\» 7 1.2 7.14 23.70 21.49 44.83 33.62 70.04 53.30 114.74 86.03 )
[ Teknik Gizimler / Technical Drawings )
-
210 | 25 )
58+Strok .
17 12 46+Strok Boydan Boya Deli: 2-P 3.4 T
18 51 7| 15 10t02+Stok Through Hole ! .
N PR Her li Tarafda: I 6 6.2dp B
ro— 2-Sde 2 N[ ] Bath Sides i ®- Olgii / Strok | 10 | 20 |30 |40 |50 |80 | 70
© 4 ® - lter / Stroke
g - T N 2- M5x08 I
- @ x5 |y e [Be€ — ¢ Bogrt Ovis | | e 30 |30 |35 |40 |45 | 50 | 55
Port Size: -®-
o—| h 4 v T ‘Ig
B Y | Bl Delik: 2-4> 34
2-M3x0.5 . -
Her ki Tarafda: © 6x3.3dp
Both Sides
\_ _/
(- ) )
~ 'Y
g16 ﬁ25 R PistonZ| A | B | C | D [Stroke(10(20|30|40|50|60|70(80(90(100{125[150| F |G |H | |
At Strok !
T B C+ Stk 16 |68(15|53(20 30(35|40(45|50(55|60(65|70(75(87.5|1100| 8 (47| 7 (24
M, w H| 15 Dt02+Stok 2-P1 ‘ lz 20 |7820|58[20| E [35(35[4D|45|50|55|60(65(|70|75 [875100{10|55| 10|28
. Sy } Baglanti Deligi I =
o g_gﬂ“ >3 M I EEEEE Through Hole /4:& L 25 |81(19]62(30 40(40|45|50|55(60|65|70(75|80(325[105|15|66| 9 34J
@ S 8 REE : 2-M5x08 ‘
I S = . . - M5x90; ! "
,,@,,QJ o S|_ Yl —— LS E.a?;'g“"%“ ! Piton| g |K|L[M[N1|N2 P1 P2 Q|R|S|T|V|W
[ | 4] onsze | 1ki taraf:37.5-7.2mm|iki taraf: 28-4.5mm o
T o ,¢, T% 16 [MAX0.7-5(47 |53120 |22 |11 g0t o  rayelan boyer 0|54 [ 54 [21]8 [81
_ ~ iki taraf-&37 5-7.2mm |iki taraf: @8-4.5mm
> Méxor 2-J »EUM 20 |M4x0.7-5(55 | 81)24 (25 | 12 | uan bova: 4.5 Boydan boya: 4.5/ *4 [3-5(62 [25[10[8.1
Baglanti Deligi N Iki taraf:337.5-7.2mm(lki taraf: &8-4.5mm .
Through Hols | 25 |M4x0.7-6/86 | 72|29 |27 | 12 |oydan hoya: @4.5[Boydan boya: 94.5|58 [8 |73 |30 12|101
_ Z/
rz:;z 0 108+ Strok 10 I
f— 30,78+ Strok Boydan Boya Delk: 2-[' 5.5
38 144 | 1347 3502+ Shok Through Hole
— 2-Yanl) Her ki Tarafda: & 8 13.2d) . e
‘ 2-5i oh Sices S Olgin/ strok (10| 20|30 40|50 | 60| 70| 80| 90[100| 125 | 150
© ! z ltem / Stroke
@ 8 /,@” E 45|50|55|60|65|70| 75| 80|85| 90 [102.5/ 115
P RERE: IR 2- M5x081 |
»n o | o N X0 |
© Bagjant Olgisfi 1 N1 |35 40
Port Size &- & ~ ~
2-MBx 1 Q§ o :
Boydan Boya Delik: 2-$ 5.5
2- M3x1.25/5 17l 1+ EX02 Tﬁéﬁgﬁ& !
Dp10 Her I Tarafda: b § 13.24
\ Befir s O 1329 _J/
rSabitleme Plakasi PB - I - ‘\
Fixing Plate )‘ ‘4— Piston @| PA [PB PC PD |PE|PF | PG PH
10 18 [0.7| @6.2x 3.5 - Montaj/ Thrhl. .5 3.3 [5.2| 6 [2.2|5.1 |M3x0.5 5.5 der/dp
‘ 16 2411 | @7.8x4.6-Montaj/Thrhl.:34.3 [6.2]8 [ 3 [6.1|M4x0.7 9derldp
oo H— 20 28| 1 | @11 x6.8-Montaj/ Thrhl. . @65 [8.2|10| 3 |8.1 |[M6x 1 10 der/dp
| g
17718 25 34| 1 | @11 x6.8-Montaj/ Thrhl. . 6.5 [10.2]12| 3 |10.1|M&x 1 10 derldp
- L 32 42 | 2 | @17 x 12 - Montaj / Thrhl. : 10.5 [14.2{16| 3 [14.1|M10x 15 13derldpJ
. _/
e - h
« Eger silindir govdesi sekildeki gibi baglanirsa , PR
yiiklenebilecek maksimum agirhik, W, yandaki grafikte 2 2 2
belirtildigi gibi olmahd 552E
elirtidigl gibl olmahdir. EE?-E
E2fs
¢ « If the cylinder body is mounted as shown in the drawing, the @ g L
. max. Weight of allowable side-load, W, must be below the value % é
w < 1Kg=981N given in the graph right.

% 4 _w s o
\_ Strok / Stroke (mm) W,

Gl 2419 _ <«




